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Note : All questions are compulsory. Marks are 

mentioned against each question. 

1. Answer any five of the following questions :  

5×4=20 

(a) Define hydrosphere and state its 

relevance. 

(b) Describe different characteristics of 

sedimentary rocks with suitable 

examples.  
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(c) Describe the views of Hayford and 

Bowie related to the concept of isostasy. 

(d) Briefly describe the mechanism of 

continental drift as described by 

Holmes.   

(e) Differentiate between troposphere and 

stratosphere. 

(f) What is isotherm ? Illustrate your 

example with a suitable diagram. 

(g) Differentiate between trade winds and 

polar winds. 

(h) What is mid-oceanic ridge ? Briefly 

describe any two ridges of the Pacific 

Ocean. 
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2. Describe two types of seismic waves with 

suitable examples. 15 

Or 

Describe the causes of sea level change. 

Describe two types of sea level changes with 

suitable examples. Also describe the two 

types of landforms formed due to sea level 

change. 

3. Describe universe and galaxies. Discuss the 

classification of galaxies with suitable 

examples.  15 

Or 

What is diastrophic force ? Explain 

epeirogenic movements with suitable 

examples. Illustrate your answer with a 

suitable diagram.   
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4. Explain heat budget of atmosphere and 

earth with suitable diagrams. 15 

Or 

What is local wind ? Describe various types 

of local winds with their characteristics. 

Illustrate your answer with a suitable 

diagram.   

5. What is ocean current ? Describe the factors 

that affect the ocean currents. 15  

Or 

What is glacier ? Explain the erosional and 

depositional landforms of glaciers. Illustrate 

your answer with suitable diagrams.  

6. Answer any two of the following questions in 

about 600 words each : 2×10=20 

(a) What is biome ? Describe the different 

types of biomes. 
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(b) Discuss the mechanism of plate 

movement. Illustrate your answer with 

a suitable diagram. 

(c) Define fog. Describe different types of 

fogs. 

(d) What is hydrological cycle ? Discuss the 

processes involved in the transfer of 

water in hydrological cycle with a 

suitable diagram. 
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ch- ,l&lh- (lkekU;)  

(ch-,l-lh-th-@ch-,l-lh-,e-) 

l=kar ijh{kk  

twu] 2025 

ch-th-th-lh-Vh-&131 % HkkSfrd Hkwxksy 

le; % 3 ?k.Vs   vf/kdre vad % 100  

uksV % lHkh iz'u vfuok;Z gSaA izR;sd iz'u ds vad mlds lkeus 

mYysf[kr gSaA 

1- fuEufyf[kr esa ls fdUgha ik¡p iz'uksa ds mÙkj nhft, %  

5×4=20 

(d) tyeaMy dks ifjHkkf"kr dhft, vkSj bldh 

izklafxdrk dks crkb,A 
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([k) mi;qDr mnkgj.k lfgr volknh 'kSyksa dh fofHkUu 

fo'ks"krkvksa dk o.kZu dhft,A 

(x) lefLFkfrdh dh vo/kkj.kk ls lacaf/kr gSQksMZ ,oa 

cksoh ds fopkjksa dk o.kZu dhft,A 

(?k) gksEl }kjk of.kZr egk}hih; foLFkkiu dh fØ;kfof/k 

dk la{ksi esa o.kZu dhft,A 

(³) {kksHkeaMy vkSj lerkieaMy ds chp vUrj crkb,A 

(p) lerki js[kk D;k gS \ vius mnkgj.k dks mi;qDr 

vkjs[k dh lgk;rk ls n'kkZb,A 

(N) O;kikfjd ioukas vkSj /kzqoh; iouksa ds chp vUrj 

crkb,A 

(t) e/; egklkxjh; dVd D;k gS \ iz'kkar egklkxj ds 

fdUgha nks dVdksa dk la{ksi esa o.kZu dhft,A 

2- mi;qDr mnkgj.kksa lfgr nks izdkj dh Hkwdaih; rjaxksa dk 

o.kZu dhft,A  15 
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vFkok 

lkxj ry ifjorZu ds dkj.kksa dk o.kZu dhft,A mi;qDRk 

mnkgj.kksa lfgr nks izdkj ds lkxj ry ifjorZuksa dk o.kZu 

dhft,A lkxj ry ifjorZu ds dkj.k cuus okyh nks izdkj 

dh Hkw&vkÏfr;ksa dk Hkh o.kZu dhft,A 

3- czãk.M vkSj eankfdfu;ksa dk o.kZu dhft,A mi;qDr 

mnkgj.kksa ds lkFk eankfdfu;ksa ds oxhZdj.k dh ppkZ 

dhft,A   15 

vFkok 

iVy fo:i.kh cy D;k gS \ mi;qDr mnkgj.k lfgr 

egkns'ktfur lapyu dh O;k[;k dhft,A mi;qDr vkjs[k 

}kjk vius mÙkj dks Li"V dhft,A 

4- mi;qDr js[kkfp=ksa dh lgk;rk ls ok;qe.My rFkk i`Foh ds 

Å"ek ctV dh O;k[;k dhft,A 15 
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vFkok 

LFkkuh; iou D;k gS \ fofHkUu izdkj dh LFkkuh; iouksa 

dk muds xq.kksa lfgr o.kZu dhft,A vius mÙkj dks mi;qDr 

vkjs[k }kjk Li"V dhft,A 

5- egklkxjh; /kkjk D;k gS \ egklkxjh; /kkjkvksa dks izHkkfor 

djus okys dkjdksa dk o.kZu dhft,A 15 

vFkok 

fgeun D;k gS \ fgeunksa dh vijnukRed vkSj fu{ksi.k 

lEcU/kh LFkkykÏfr;ksa dh O;k[;k dhft,A vius mÙkj dks 

mi;qDr vkjs[kksa }kjk Li"V dhft,A  

6- fuEufyf[kr esa ls fdUgha nks iz'uksa ds mÙkj yxHkx  

600 'kCnksa (izR;sd) esa nhft, % 2×10=20 

(d) thokse D;k gS \ fofHkUu izdkj ds thokseksa dk o.kZu 

dhft,A 

([k) IysV lapyu dh fØ;kfof/k dh ppkZ dhft,A vius 

mÙkj dks mi;qDr vkjs[kksa }kjk Li"V dhft,A 
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(x) dksgjs dks ifjHkkf"kr dhft,A fofHkUu izdkj ds 

dksgjksa dk o.kZu dhft,A 

(?k) ty pØ D;k gS \ ty pØ esa ty ds LFkkukarj.k esa 

'kkfey izfØ;kvksa dh mi;qDr vkjs[k }kjk ppkZ 

dhft,A 

× × × × × 

 

 

 

 

 

 

 

 

 


